=

T HEICBITAEEEBROEILRERBOIEESER (I—EEL) [ PIEFESAHKNERIE]
B EERA F

£H

93 %

PGS e N EL UL BT

A [EhE4T5 5

EEICT~E

MDINEXCO QIahEE %]
£H 88 % =] 92 %
/NRUES 85 %
KREE 93 %

FE1RR22MHEICK ST B EDEIME (DU FICKDHEHRD

[BTE2: PEHAEE14 BHESRES]
F2:2HEEED I~573‘/_I:liiﬁﬂ]/‘:‘ﬂ%ﬁ%h“@b\T:&')éi*ﬂd)ﬂ%f
Al

P —MEE L YEML HTE
P—REFELYEMLUEE (1 0%MLE)
P —REFE K YR L RE
P —HEFE X YRS LrE (1 0%LLE)

D —HEEA D RED R VETE




PREOSMIFEIAIHORERMERBE

KEZBEL, BME A FIZLDEHAD,

THBED FA31EQ STHBEQ T35S SHBEQ TH3TE®
(&/8) (&/8) xf (&/H) (&/8) xf (&/H) (&/8) xt
X \ . 3H3B( 3A6H(K) —WEF 3H3B(] 3A6R(K) —ME 4 3H3B( 3A68(K) —MEE
“ EERTR A B4 AT =] =] A ke
@/ @ R/ ® ®/®
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1 B4R E14% RIS ~ 2 JCT 69.700 77,400 90% 42,800 51,400 83% 26.900 26,000 103%
2 B4R E1E4 BE~EL =T 63.100 69,000 91% 44,500 48,600 92% 18,600 20,400 91%
3 B4R E1E4 ZEB~FIURT—F 54,500 57,200 95% 36,600 38,200 96% 17,900 19,000 94%
4 B4R EIAL &4, I8 BT ~ 22 [ B JCT 41,900 43,600 96% 15,100 17,200 88Y% 26.800 26,400 102%
5 B4R EIAREVE SE~ & EERJCT 96,100 103,600 93% 49,400 67,300 73% 46,700 36,300 129%
6 BHE E23R 4R BEERA~ET 58,700 62,700 94% 45,700 49,300 93% 13,000 13,400 97%
7 . I £ I 14 % CEICT~EFE 59,600 65,200 91% 35,800 38,800 92% 23.800 26,400 90%
8 Iz £ 122 E14, 2 EE 27—~y R 35,000 40,900 86% 16.200 19,200 84Y% 18.800 21,700 87%
9 I5z &2 5% E19% 358 BisR~ i 32,500 36,400 89% 18,100 21,100 86% 14,400 15,300 949
10 i B2 12 E41EE RS w2y 14,800 15,800 94% 11,700 12,600 93% 3.100 3,200 97%
11 i B2 1R CIEEIBEE +IER S8 B~ IFJCT 15,400 17,400 89% 9.900 11,800 84% 5,500 5,600 98%
12 ZER E1AGEN 2 BEEE~EEAL 69,100 73,800 94% 31,000 36,200 86% 38,100 37,600 101%
13 ZER E1AS 4 # WH~ BEAY— 87.500 0 § 9.600 0 5 27.900 0 -
14 =ER E23E &R B~ 85 56,000 92,700 60% 32.900 46,100 71% 23.100 46,600 50%
NEXCO ££&t 51,300 58,100 88% 30,000 35,200 85% 21,300 22,900 93%
15 BHR etih: H-2) 44,300 49,700 89%
16 BHR 28 Rl P A -2 40.500 41,900 97%
17 BHR 3B KRS SEA-Zit 70,900 79,400 89%
[ P 4B R AEIL-EFEE 33.800 36,500 93%
19 T 4112 52 5B - 39,700 42,000 95% N7 A ICEERINEETS L
20 BHR 62 A FE P BB E T 50,000 54,500 92%
21 BHR 112N R MR- L 45.800 50,700 90%
22 BHR 62— —E—EHE 55,900 60,700 92%
LhESE £t 47.600 51,900 92%
hRE 2Kt 49,300 53,200 93%




